TYT/ 23-24 /50

—F-pEg-1-L7p

47—:
~m*$-
41
¥
-N
—4-\
=y
4%
(=
g

>

ek

hjer et B4 PREE T B3 FBE L F EHRGES 0 4

b T S B i SR At ?ng‘lk—,'{'ﬁﬁi“‘% o izH - l[%i/'}‘g\‘ﬁ’lﬁ?ﬁ‘fig )
f]ﬁv F F fde o FEpAeT L

o
ﬁ

24
o R £ 2024 £ 17 19p(287)
B APER b x T45(% 3 ) T = 1:00(9 5 )
FEFB I FRKEM
R A DB T 4
FRACRE R T 3B30(F ek v R o K1 ¥ PER )
HIE L FREIME TR R
2. ‘?‘%2]?‘315'&%‘%%%%”’ P N R =
3. F HHEERIFHFIIR ~ & & kdp o
4. F & =R 2 R IR & o
i P REELT AR 1Y 1T P AN E A w AT EPRT LR
R
¥ RS
A R E T EZ
* waE * TYT/ 23-24/ 50

AAL]7? B RfeF P At iﬁ“‘% .
LR

ok ARt g L R R

2 Sl - S 2



